Name:____________________

                                                                                                      Period:_____


DNA( RNA( Protein Sequencing- Write a number next to each step to show the proper order of events. 

____ mRNA leaves the nucleus in search of an appropriate ribosome.

____The first amino acid is removed from tRNA and joined to the second amino acid by a peptide bond.

____DNA strands unzip.

The protein chain grows as amino acids 4,5,6… are added.

____rNA polymerase hits the stop signal and lets the mRNA strand go.

____tRNA #2 arrives and matches its anticodon to the 2nd codon in line.

____rNA polymerase moves along the template strand and matches complementary pairs of bases.

____The large ribosomal piece attaches to the small one around the mRNA strand.

____Translation stops when the stop codon is reached and the ribosomal pieces separate again. 

____rNA polymerase strings nucleotides together to form mRNA.

____DNA strands reattach.

____The ribosome moves over 1 codon and a 3rd tRNA arrives.

____rNA polymerase binds to the promoter gene.

____The mRNA strand binds to the small ribosomal piece and the first tRNA with the anticodon UAC binds there too.
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